
Ultimate Addons Sat Nav Mount
Triumph Tiger 800

Installation Instructions



Installation Instructions

Kit Contents   PRN014503-014507

1 x Main Plate A

1 x Ultimate Addons Mounting Bracket B

1 x Ultimate Addons Sub Mounting Bracket C

2 x M4 x 5mm Black Button Head Bolts  D

2 x P-clips (No.1) E

2 x P-clips (No.2) F

2 x P-clips (No.3) G

2 x P-clips (No.4) H

2 x M5 x 25mm Black Button head BoltsI

2 x Nylon WashersJ

3 x M5 x 12mm Black Button head BoltsK

4 x M3 x 12mm Black ScrewsL



1Installation Instructions



2Installation Instructions



3Installation Instructions

B C



4Installation Instructions

L



5Installation InstructionsInstallation InstructionsK



6Installation Instructions



7Installation Instructions

D E



8Installation Instructions

Caution

Locate Item In 
Recess 



OEM PARTOEM PART

9Installation Instructions



OEM PARTOEM PART

10Installation Instructions



J
I

I

J

11Installation Instructions



www.evotech-performance.com


